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8. Do you agree that ‘Dalits’ do not constitute a homogenous

category? Explain with suitable examples.
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Answer any four questions.
All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.
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Inequality need not be based on natural differences. Explain

with respect to social systems in India.
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Define and differentiate features of Caste and Varna. Are

they interchangeable?
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Caste is only one of the manifestations of social

differentiations in India. Discuss with examples.
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Medieval Indian slavery had its own social differences.

Elucidate with examples.
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The household is an important site in the construction of

gender identities. Do you agree?
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How does the Indian Constitution address the issue of

untouchability?
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What is a tribe? Discuss its salient features with

examples.
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